
CFEM example

For all the elements k = 1, C = 1, Le = 1

Formulas for ke and me:
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Discontinuous Galerkin formulation for heat conduction (one of the 
several DG formulations for this problem).

Generalize b to a DG formulation:
DG formulations are element centered. So, we write the residuals for 
elements.
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Now that we have all the residuals we can formulate the DG weak form:

Find the solution in all elements e, subject to the following weak statement:
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Some comments on the choices for f(w):

f(w) = w1.

Make the formulation "energy symmetric" 2.

Potential problem
If we interpolate the element with 0th order polynomial (that is the 
solution is a constant in each element)

Example: DG matrices for the same 3 element problem
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Since the CFEM solution was order 1 (using linear shape functions), we 
want to solve this problem with linear DG elements
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